MATH 11012 [Intuitive Calculus’ Spring 2011
Circle one:  8:50 5:30 Ms, Kracht

Name: %Eb{ Quiz Score: /25

Quiz 1: Version A

Show your reasoning. Use standard notation correctly.

1. (10 points) The function f is depicted below.

(a) Find each of the following or state “does not exist” (“dne").

Jm @=L | im ogw=4 | m @)= 2 | gL
dm @)= 2| im gw= % | ms@= L mgw= L
Jim_f(z) = _;9;__ Jim f(z) = ;0_[_{4__% lim f(z) = one lim f(z) = i
f(=3)=_& [y =_% f@=_%_ flay=_Ane
(b) Circle YES or No for each of the-following,
i. Is f continuous at —3? @ No
28

ii. Is f continuous at —1?7  YES No

7y
iii. Is f continuous at 2?7 YES W

NN
iv. Is f continuous at 4?  YES No



2. (5 points) Find the average rate of change of  f(z) = 2% — 7z

P)-f) TR ] - [15+4]
3 |

over the interval [1, 3].
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3. (10 points)

(a) State the definition of derivative.

= o fouh) o
W-7° L

(b) Find the derivative f'(x) of the function f(x) = 3z — 10z +5 using the definition of derivative.

jc/(,)(),; lim fcx*l“&;ﬁ._@

-y 0

=l [2 Gepa o to( ety 5 ] = [2x=tox + 5
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MATH 11012 Intuitive Calculus | Spring 2011
Circle one:  8:50 5:30 Ms. Kracht

Name: Kt’-«/g Quiz Score: /25

Quiz 1: Version B

Show your reasoning. Use standard notation correctly.

1. (10 points) The function f is depicted below.

1 X
(a) Find each of the following or state “does not exist” (“dne" ). |
i @)= A | i @)= | m g - kS i f@)= >
im0 =_* | m g@- A |- L | mgw - L
G f@) =~ | dm fa) - dne | limsx) = Ane | = L
F(-3)= ON& (=1 = —'L_ f(2)=;ﬁ’_ f(4)=._4:_,_

(b) Circle YEs or No for each of the followi
i. Is f continuous at —37  YEs @

it. Is f continuous at —17  YES @

N

iii. Is f continuous at 2?7  YES No

. ety
iv. Is f continuous at 47 @ No



2. (5 points) Find the average rate of change of f(z) =2 — 5z over the interval [1,3].

Lot _(F-53) (50
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T e

2 - >
3. (10 points)

(a) State the definition of derivative.
o= o flara) — fx)
o e

(b) Find the derivative f'(z) of the function f(z) = 222 — 3z + 8 using the definition of derivative.

'Jt/(%) o ‘Ei;z flctt (3 {0

_ i [2(%”\)’7’”?,'(&%) ] - [ 27 =3x+4]
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Circle one:  8:50 5:30 Ms. Kracht

Name: KEL!{ Quiz Score: /25

Quiz 1: Version C

Show your reasoning. Use standard notation correctly.

1. (10 points) The function f is depicted below.

(a) Find each of the following or state “does not exist” (“dne”).

m g@=2 | m @=L | ms@= 2| i g - 2
m @)= T | m fw= % | miw=t | mgw= 4
imf@=_E | m = | mpe - M| g - L
7(-3) = AN y=_5 @-_2 rw=_4

(b) Circle YES or NoO for each of the follovy' -
i. Is f continuous at —3?  YES @

-
ii. Is f continuous at —17  YES @

ii. Is f continuous at 27 YEs @
iv. Is f continuous at 4? No



2. (5 points) Find the average rate of change of f(z ) =z° — 10z

2 over the interval [1, 3].
fe)-f0 _ 1F-03 ] D o
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3. (10 points)

(a) State the definition of derivative.

= bim Flarh)— j@(x)
$20 T4
(b) Find the derivative f’(z) of the function f(z) = 52% — 4x — 7 using the definition of derivative
”F/(‘X_):: lim Tp(““”") ”‘)a(@
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Quiz 1: Version D

Show your reasoning. Use standard notation correctly.

1. (10 points) The function f is depicted below.

(a) Find each of the following or state “does not exist” (“dne”).

dm f@=_% | im @=L | @)= D
dim j@= 2| am fw= 2| mge@= L
Jim_f(z) = i lim f(z) = !2(2"_@ limy f(2) = __@%__e/
feny=_2 fey= 2 ro- L

(b) Circle YES or No for each of th iollowing.
i. Is f continuous at —37? @ No
ii. Is f continuous at —1?  YES

ili. Is f continuous at 2?7 YES
ah
iv. Is f continuous at 4? YES @
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lim f(z)= 4
r-—4
lim f@)=_L
linr}1 flz) = ﬁ

HOE i’@_@/



2. (5 points) Find the average rate of change of f(z) =z — 4z  over the interval [1,3].

-4 P-4 1- [ wd]
z—1
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= 7z T U
3. (10 points) ‘
(a) State the definition of derivative.
@ fl(z) = L —F(K%) —4(x
Zo T T,

(b) Find the derivative f'(z) of the function f(z) = 92% —3x — 2 using the definition of derivative

@ -l feoho
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